Mr. Key

Quiz #1

Name:

PHYS 505: Classical Mechanics (graduate),

Instruction: use additional sheets if you find it necessary

1. Find the Taylor series expansion of sinz at point x = 7/2 up to the fourth order.

2. Find the value of the following integral when a — 0:

a
2

xTr
/ = exp(—ﬁrz)dw
0

@ There are Ywo ways Jo @uof s T°‘7[or' serleg
(s fo fo/lo\,\/ Tlue olef{(,“"“ob )

Tlhe first ouce
o0 ) 0 T
]f(?(')(o> = Z P-—(X—,O) (x—%o) lw our case flO=siux Xo=5-
h=o h'
Theu
BN{IES (2)7“ ™ _ B
S:b«(ng = §)\4'% -‘:(‘,0512‘: =0 Sty -'i.: —-S‘MZ = ’{
¢ ) .
glhg)g:‘%gzo SIL\QEN___: - 5“412[; = 1
Quo& )
r _T0\* _ I
S)u)( —)E_—_—Z;L 1 - (% zB (X ?> -
21 4 !
: recall  Feot
ﬂ«e Secow o au A easgler WOj S to
S (S Y = B X 80
WT}\LM X=>0 We le wo vy +"‘€_
exgaaston ﬁ;r Con X ',
LX=>0 XL XL! ’ \
Cod X — i‘{—’.JrY:’-““ \\/ ,,:g \’
s -y
o W tsSy rep le ¢ e
aud ge,{‘ StuxX — { = = Yide



@ \/\/&,&u\ a > O X th {La L'mlegrauo( is

a/wa75 Sl | S0 We Con a/;/'roxz'm4g_ (t owit(
L4 Maclayry Series '+ and cuiegrate eacl teru,
Qerarm[-t[(j

XL x>0 XL XZ-
1 _ e F* 4,(1_PX+BT‘4_ le _Lik)‘ sz—E;l‘_+




